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Sit with your Revision Twin opposite 2 others at a table.

The purposes of this structure is to find a ‘consensus’ answer to each question – something you can all agree to or at least all live with.

You will get 3 minutes to Round Robin your views to establish a consensus answer, then a further 3-4 minutes to write you answers on the sheet. This process will be repeated until the task sheet is complete. Then swap and mark with revision twin.
Questions
While in the past the main political parties had distinctive ideologies, this is no longer the case today.”

To what extent do sociological arguments and evidence support this view? (40 marks)
Level 1 – can identify main political parties and some of their ideas – does not address the question (0-8) U

Level 2 – writes coherently about socialism, conservatism and liberalism and describes their importance in the past (9-15) E-D

Level 3 – as above but also starts to assess whether ideological distinctions have increased or decreased in recent years ... assessment not sustains. Uses theory and evidence but may be imbalanced (16- 26) C-B

Level 4 – as above but offers a sustained and supported judgement drawing on theoretical understanding and up to date knowledge of recent changes and party policy (27-40) A-A*
